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Coresponding a pattern to semantic typology

Kentaro SAITO  Satoru IKEHARA  Jin’ichi MURAKAMI

Graduate School of Information and Knowledge Engineering, Tottori University
4-101, Minami Koyamachou, Tottori city, 680-0947, Japan

Abstract:

In developing natural language processing technology, it is proposed how to make the original language
as patterns, which consist of meaning, correspond to the objective language. As one of flexible and
appropriate translation method, it is thought how to correspond a pattern to semantic typology. Then
this paper treats comparison sentences as examples. And this paper proposes construction searching for
a pattern of objective language, a pattern which is made to correspond to meaningly and structurally.
Also this paper proposes a method which chooses word expression that is adequate in context. Father

more, we evaluate capability computation and results by open test.
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